OOV ui
SNy ¢

POWERED BY W £ 1 88, ¢
~ .\’.‘. I s E;;: [+ ul
'j(’u-‘ e 'g n 4
t;';.“:. :8 '4(3 Al o :3 (4]
I l 74" MAX. O.A. FRAME WIDTH B i e 2°. 2

L0 wie L .G o
® DL => 19 c -
A oiT B gg §°3 3
DOOR COMPONENTS MADE IN THE USA YL igi ¥ eR 22 6
W 5T e T g3s i
| 2211*—‘:?0 §82 o
T 8. &
0 x2
Z@o O
o € n
502 &
Mmoo 5
m
:

CERTIFICATE OF REGISTRATION # F-—11852

Opaque Steel Door

Documents Prepared By

"NON-IMPACT"

Qo Q
INSWING / OUTSWING w_ Z 55
20 <3 5=
o Z o5 w
< & > 9.— N d
. 2 <= Zd
ot oo g o5
> E in U =S > <O
< o~ O 2
9 =E X X g |38 g
NI ®3 W ol o
© < 0| g
o < << X
13} X 7]
>
-
EVALUATED FOR USE IN THE STATE OF TEXAS & .
The Steel Door system described herein complies with the 2018 Intemational o] b
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building 5 o
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the w
following conditions: 3
O
1. Anchors shall be as fisted and spaced as shown in the details. Anchor z|Q
embedment to base material shall be beyond wall dressing or stucco. 2 §
2. When used in areas requiring wind-bome debris protection this product is Sla| |»
required to be protected with an impact resistant covering that complies 5|0 cz>
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. S § %)
3. Allowable design pressure requirements must be equal fo or less than the LE o "
design pressure rating shown in the design pressure chari, sheet 1 of this 8 =E
drawing. [ E
4. Conditions not covered by this drawing are subject fo further engineering "Q S
analysis. ol
<
[0}
TABLE OF CONTENTS $ L
SHEET # | DESCRIPTION E S
1 Typical elevations, design pressures & general notes | lo
2 | Astragal details {Ulimate Trilennium) XX INSWING +4 -4 z
3 |Door panel details 0.0 0.0 OATE: 11/16/16
4 Horizontal & vertical cross sections ScAlE:  N.T.S.
X TSWIN + -
5 Vertical cross sections X OUBSWING 45.0 45.0 DWG. BY: JK
é Frame anchoring CHK. BY: LFS
DRAWING NO.:
TX—4679

SHEET 1 oOF 6

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, TX-4679

© zo16 R.W. BUILDING CONSULTANTS INC.



"ON] BANVLINENLOD GNIATUNE *M'™Y 9102 @
ZSBLL—4 # NOLVMISIORN 40 IUVOLILLNIO SNOISIAY
SUIINIONZ TVNOISSAJONd 40 Q¥VOs SYXAEL «Emﬁ&@mﬁ«\w«k@m@a A8 11vQd JONjw© ©
L6LE'659°CLE FON ouOUg 3000 _2d81/281 8102 0L 3.vddn Juilx|®2] @ _
G6GEE "4 OOUIPA OST xog .O.mgﬁ PATENISSY ¥0 Livd | 57 % NOWdO  swolquorsny, aav| ei/v/1L| L Ll —. 9|8
*ONI *SINVLINSNGO ONIdING <z g Y 2_
CZIVOL# ‘T o =15 :
d SYXaL YaNAN3 g9l gl oIE I3
F'd WPILIYOS 4 uopuky :/Ag peJpdely sjuswinoog 11ONA0Yd 213 % & x
al|luv (=] (S~ 0
.
N
S WOLLOg
5 «
2.5 ezivgL ne 9
m_..m.m....-...:..”...::-.....a....m *
22.0INHOS 4 Noant 2 ;
.\\k 7 .....:.:.‘Mm.u l*» e
N ¥ < -~ .
NN& &J.... % u.& ¥ Jord o~
., ¢ ot
-~M*%.~.::O:..NJY /v.hn..s..( W
15,30 2°6° in
TELINREE ™
o
™~ ,ll :WO.N
| c
J .0
b5
i R (3]}
o » 17 &
& N B
2 : B
5 S
=1 G
= (o]
9 2 =
P
(Yo} = m
S O
—
= <€
| S S
e = S
in [
g 2 - 3
~ m <
& 5
x <
O = I
Z a
" (13}
3 Z<
- ox
< Q-
9] a4
< D
Wmv, =5 =
¢ 3
a8 a
m :
a.
w
M
5
&~
Q
~
dOlL

Upper Bolt Sleeve
{Aluminum)

{Zinc)
Lower Bolt Sleeve
{Aluminum)

Upper/Lower Bolt
Actuator Lever

(2) #8 X 1-1/2" PFH
Wood Screws

ULTIMATE TRILENNIUM ASTRAGAL

T~ Aluminum Body

i

7L ‘BMpZgL8'6L8L9p-X L \sBuimelq - D\(wnuuajua)) anbed 1S sHUOSEI ¥S8-¥A - IAL\SU| $0 1daq sexal - G\LNINVINYId BINPUISIUALD\Y



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, 1.3

STILE (LVL)

INTERIOR

1.758"

0.81"

35.75" MAX.
PANEL WIDTH

P

EXTERIOR

STILE (LVL)

LOCK BLOCK

(WOOD: 12" LONG)

/"1 "\ HORIZONTAL CROSS SECTION

3/

“p)

79.25" MAX. PANEL HEIGHT

.

\7 SEE HARDWARE

TABLE

4

D

DOOR PANEL

Masonite

Steel {(Wood Edge)

DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS)

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

TRILENNIUM

0.81"

SERIES 3000 MULTIPOINT

LOCKING SYSTEM

Endura

Trlennium®3000 Series
Multipoint lock (3pt.)

TOP RAIL

(WooD) ~_ |

25 GA. STEEL
DOOR SKIN

N

INTERIOR

FOAM CORE

0.81"

EXTERIOR

0.81"

BOTIOMRAIL — L]0

(WOOD COMP.)

——1.75" ——

/ 2>\ VERTICAL CROSS SECTION

3/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

w
=~
<<
-
wiy
AT
& ‘,
S e
a Z ==
= 9 <N
& ol
7 &
e ; 8"3
Q
8 o]
S) &
& <
[a [a )
21 =
Yl I
L
[
(e}
KO
O
3l
Elo]
S| |n
X zZ
o0 1O
]| 2
ol @
512 |&
w
S|
1<t
&
83
<C
o>}
Lt
NEE
NS
-1 lo
=z
oatE: 11/16/16
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4679

SHEET 3 oF 6

© zo16 R.W. BU.DING CONSULTANTS ING.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, 1.4

2X FRAMING 2X FRAMING oy §,,
230 (G>=042) / DRYWALL (G>=042) / DRYWALL | 5% X5 40, o5 "
I3 v ~ \K —\ \A EA ol -} N 28 o BB
'/ Y' TN L ‘-' I 5, -". ggsm ;-%t:;} %‘ﬁ*.: : § 25
il o L L ipia WWG%E g 84
p EXT. SHEATHING  W{[¢ EXT. SHEATHNG  J{{4 335%;‘3;3 2og Wue 2y G-
3 ) 'u p . ?‘ ‘:‘ 32 EQ (L;J.:g s ¥ cg 3 :é’“:
, o igi- S 8% %30; zz
| o] | ] [ | 1 %, BTSSR e i
T 1 B (’1 el "c.. ECZ.J 5 "'Q'Q 3 3‘ 5’ ; © & E
1] y' : -" 4 . Izz‘;—)* *..g?_} 5. ?Q\Oshl\ 2. g gé
/ 2 #10X2-1/2" PFH i M 5 8R. go
A L7 WOOD SCREW {114 L - 0 % 2 L
4 l’ e » 4 FEDe O%
1/4" MAX. 1 | g 958 ¢
4|11 iy = o 52Qe i
SHIM SPACE ™ e | ' T 10 % 3" PFH £ m§. gé
0.
SPE 14 MAX. — | WOOD SCREW 2 2
SHIM SPACE P g 7
1 ‘ 3
Y X X v B =00p0co g
DOOR PANEL ? DOOR PANEL
\ HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE) <
O
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650) (QEBD/PE 650) ye
= [
. q EXTERIOR W INTERIOR EXTERIOR W INTERIOR s |3 22
Lj o 2o
| / 2\ VERTICAL CROSS SECTION {3\ VERTICAL CROSS SECTION B S
a /3 "N \\U Outswing shown - inswing also approved W Outswing shown - inswing also approved & of €
(@]
CORNER PADS NN 7 3 u +
(TYp.) & =
0.15" &
1/4" MAX. e CSINK 1/4" MAX. 2
SHIM SPACE (YP) SHIMSPACE  £y7 SHEATHING
EXT. SHEATHING JAMB: "FusionFrame"
(1 OR 2-PIECE)
- - - JAMB: PINE \
: 7 .[ ' A A A A A At / " #10 X 2-1/2" PFH e e e %
R — #10X 2-1/2" PFH z
WOOD SCREW WOOD SCREW 2
ULTIMATE TRILENNIUM ASTRAGAL @
COMPOSITE 2X FRAMING STTIIF LTI e 74 E"
\ SNAP-ON (G >= 0.42) ENDURA WEATHERSTRIP 2X FRAMING e
CAP ’ ENDURA WEATHERSTRIP (QEBD/PE 650) (G>=0.42)
. . N (QEBD/PE.650) DOOR PANEL
N
2 (0L
O "
’._
E[ DRYWALL/ / oaTe: 11,/16,/16
#10X 2-1/2' PFH DRYWALL 11/16/
! 25 125" lm— ) #8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW ~ #8 X 1"PFH SMS #8 X 2-1/2"' PFH SCAE:  N.T.S.
. ] 125" |=— WOOD SCREW e STRIKE PLATE  #8 X 1" PFH HNGE WOOD SCREW owe. Bv:  JK
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS o 8 LFS
PINE "FusionFrame” "FusionFrame” m HORIZONTAL CROSS SECTION DRAW""I'(;NO:;679
(1-PIECE) (2-PIECE) w Inswing shown - Oufswing also approved _

SsHEET 4 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Masonite ST Opaque (Trilennium)\C - Drawings\TX-4678.79.81.82.dwg, 1.5

A\ i\
INTERIOR EXTERIOR INTERIOR EXTERIOR
DOOR PANEL
e DOOR PANEL
ENDURA
DOOR SWEEP ENDURA
A? / (DBK-R) DOOR SWEEP
(DBK—ZAC)\

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“1\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

ERT y/i DOOR PANEL
WEATHERSTRIP
(QEBD/PE 450),  NTERIOR \ EXTERIOR
ENDURA X _
WEATHERSTRIP  INTERIOR EXTERIOR
11 12(13 (QEBD/PE 650)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2\ VERTICAL CROSS SECTION

W Inswing Articulating Threshold
w/ Pin Capture

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico FL. 33585

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

TEXAS BOARD OF PROFESSIONAL ENGINEERS

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION
W Qutswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
\5/ Outswing Bump Threshold

Documents Prepared By

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

. I
456" | ! 456" | 456" ' ! 456" E
@ INSWING ADJUSTABLE THRESHOLD 2 )INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 }INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN ZAl4565RDS
7] 8] o B
= 7 n 1—% % "
| ¢ ‘E R | L AR
! 456" - ] 456" ! ' . 456" | L————— 4.56" ——-—’J
5 | INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g )}INSWING ARTICULATING THRESHOLD 9 )} INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD
LACLA4565 7 LACA4565FN IACLAA4565 ZACAAA4565FN ZACA4565RDS
MAX. DESIGN PRESSURE = +30 PSF MAX. DESIGN PRESSURE = +30 PSF
4 = 4 i AN
1 i i i
!— 4.56" ,[ ! 456" l 456" | ! 456" 7!
17 QUISWING THRESHOLD 12) QUISWING THRESHOLD 13 QUISWING THRESHOLD 14) QUISWING THRESHOLD
ZOBL4565 ZOB4565FN 10OB4565RDS FOB4566

UPDATE TO 2018 IBC/IRC CODE

11/4/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

L
<
[
S
s
6

DATE: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4679

SHEET 5 oF 6

© zo18 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-854 Mascnite ST Opaque (Trilennium)\C - Diawings\TX-4678.79.81.82‘dwg, 16

) G HEAD ANCHORS: .
=, m X FRAMIN #10 X 2-1/2" WOOD SCREW (PINE JAMB) . SO
052 (BY OTHERS) #10 X 3' WOOD SCREW (1-PIECE JAMB) HJOX25PRHWS Soxuiad
:U_ o (274 " 6" 'sd_\?:‘..‘ :.‘2:: ‘-“
$2Q " 2 - S iTi
3 O - (TYP.) 1) iG1
o 0 (TYP-) ~ 1T S s ¥4
6 = [ = 2SI i ic
& ~ (1YP) { % i i3
T 1] B AP o™
| 11 I | 2‘,4— “, iQi
. SEE HINGE + ASTRAGAL STRIKE 1‘,‘;’& . iS i
T EE}./ DETAIL 1 ¥ DETAIL1  PLATE @ HEAD JAMB lzl‘{‘q i 793
. g H — TP
§ SEE DETAIL 1 % % |
5 - § "~ JAMB ANCHORS:
#10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB)
i E g #10 X 3" WOOD SCREW (1-PIECE JAMB)
5 \ ¥
o EE;; g E 7 #8 X 2-1/2" PFH WS
™ [ T e L]
" 4" - .
SEE HINGE | #BXT'PFHWS <=0 1| ®fl ™1~ 48X 3/4" PFH WS
hall 4
DETAIL 2 | " 4" X 4" HINGE
A\
SEE DETAIL2OR 3 & X
— 2E
= HINGE DETAIL 1
n O
T ~O0
ok I A I
N/ = #8 X 2-1/2" PFH WS
SILL ANCHORS: e |
" #10 X 2-1/2" PFH WOOD SCREW -® |
4" {TYP, -+ » 5
e ~— 4'(TYP) \—1/4"X 2:3/4' ELCO OR HEXTTPRHWS 4:' Hle == #8X3/4 PFH WS
HINGE JAMB FLOOR SUBSTRATE MATERIAL ¢ ITW CONCRETE SCREW ~—— 4" X 4" HINGE
CONCRETE {MIN. 3000 PSI) \
WOOD (G >=0.42) FRAME ANCHORING W
XX
HINGE DETAIL 2
JAMB NOTES:
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. : : 3/16" X 2-3/4" TW CONCRETE SCREW - :
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo OR ASTRAGAL PIN CAPTURE
maintain the min. edge distance to mortar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
3. Concrete anchor table: ASTRAGAL STRIKE
PLATE @ SILL \ 1/2" DIA. HOLE {IN CAP)
W ® n " " = “{l}’\} - ® o’ @ . %\ !P
TAPCON 3/16 1-3/4 3
'Tw il it 13 il
TAPCON® 1/4 1-3/4 1-1/2 4
EL . u " .
umacon’] V4| 1 ! ‘ /2 DIA-HOLE peralL o DETAIL2 DETAIL3
Outswing Inswing Inswing

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

uj

ey

g% 0

20 o h

EXx @ W

5 B Z

Y Y B

we £ E
.5 o o

4

gg fQo"’ g

ko] z >
<22 O

§‘E Ty X

) <359 "
2>mw
Zow &
ogn_ 2

& O o
o x2

v o [T

2 gmo 54

[

8 2g0 2

£ Raoz &

: 3

2 §

=

] e;

E g

=3

0

o

o

CERTIFICATE OF REGISTRATION # F-11852

(@]
=
S
& S
x .
a b =
> o <
L EL&J
(51
e
<) e
5 x| -
8 o
2l |Z
o o.
7 B
)

UPDATE TO 2018 IBC/IRC CODE

11/4/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

L
<€
O
S
pd
6

owte: 11/16/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4679

SHEET 6 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC. -



